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= Q1) The Software Requirement Specification(SRS) 1s said to be
If and only If no subset of individual requirements described
In It conflict with each other.

1. Correct

2 Consistent

3. Unambiguous
4. verifiable

CI=m #
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If and only If no subset of individual requirements described
In 1t conflict with each other.
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. SRS Is said to be correct if it covers all the requirements gathered
from end users that are actually expected from the system as output.

Requirements In SRS are said to be consistent if there are no
conflicts between any set of requirements. Examples of conflict
Include differences in terminologies used at separate places.

. An SRS is said to be unambiguous if all the requirements stated
have only one interpretation, clear & concise.

. An SRS is verifiable if there exists a specific technique to
quantifiably measure the extent to which every requirement is met
by the system or not.

CI=m #
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Q2) Which of the following statements 1s/are false ?

P: The clean-room strategy to software engineering is based on the
Incremental software process model.

Q: The clean-room strategy to software engineering is one of the ways
to overcome “unconscious’ copying of copyrighted code.

1. BothP&Q
2. NeitherP & Q
3. OnlyP
4. Only Q
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Q2) Which of the following statements is/are false ?

P: The clean-room strategy to software engineering is based on the
incremental software process model. v+

Q: The clean-room strategy to software engineering is one of the ways
to overcome “unconscious” copying of copyrighted code. +

1. BothP&Q
2. NeitherP & Q
3. OnlyP
4. Only Q
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The cleanroom software engineering process is a software development process
Intended to produce software with a certifiable level of reliability.

The focus of the cleanroom process is on defect prevention, rather than defect
removal.

The Cleanroom approach to software development is based on five key strategies :
Formal specification,

Incremental development,

Structured programming,

Static verification, and

Statistical testing of the system.

So, none given statements are false.

ok wbdheE
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Q3) Which of the following statements is/are true ?

P: Software Reengineering is preferable for software products having
high failure rates, having poor design and/or having poor code structure

Q: Software Reverse Engineering Is the process of analyzing software
with the objective of recovering its design and requirement
specification.

1. Only P

2. OnlyQ

3. BothP&Q
4. None of these
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Q3) Which of the following statements is/are@

%P: Software Reengineering is preferable for software products having
high failure rates, Faving poor ) [poor yesign and/or having poor code structure

Q: Software Reverse Engineering IS the@(i:ess of analyzing software
with the objectlve of Tecovering its design andrequirement
specificatioy),

1. Only P

2. OnlyQ

3. BothP& Q<
4. None of these
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_ %4)_ Software coupling involves dependencies among pieces of software called modules.
=~ Which of the following are correct statements with respect to module coupling ?
P: Common Coupling occurs when two modules share the same global data.

Q: th%n_ttroI Coupling occur when modules share a composite data structure and use only
part of it.

R: Content coupling occurs when one module modifies or relies on the internal working of
another module.

1. P&Qonly
2. P&Ronly
3. Q&ROnly
4,

P, Q, R all three

CI=m #
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%4)_ Software coupling involves dependencies among pieces of software called modules.
hich of the following are correct statements with respect to module coupling ?

P: Common Coupling occurs when two modules share th¢ same global data. ) T

V&:Moupling occur when modules share a composite data structure and use only

partof It How lod® Uog |, Cpwdde. = <
R:!Content Eoupling occurs when one module modifies or relies on the internal working of

an ule. p — E
True

P& Q only

P& Ronly w

Q & R Only

P, Q, R all three
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List-1 List-IT

(a) | State i | Describes how the external entities (people, devices) can
Diagram interect with the System

(b) | Use Case | ii | Used to describe the static or structural view of a system
Diagram

(c) | Class iii | Used to show the flow of a business process, the steps
Diagram of a use-case or the logic of an object behaviour

(d) | Actviity |iv | Used to describe the dynamic behaviour of objects and
Diagram could also be used to describe the entire system behaviour

i. A-1, B-4,C-3,D-2
ii. A-4, B-2, C-1, D-3
ii.A-4, B-1, C-2, D-3
iv.A-1, B-4, C-2, D-3

@Combinecs

= The Extra Step

CI=m #



UV \‘)‘(‘"9 FRD — 3’ R oleg [=)combinecs

List-I List-II VML —
(a)~+ State i | Describes how the externa.]‘ entities é_pqulg devicesl can
Diagram interect with the Sy&item - Steder —» 5’&_& ek
}b] Use Case | ii | Used to describe the Etatic or structural [view of a system
- ] — |
Diagram
(c) | Class / iii | Used to show thd flow df a business process, the steps
Diagram of a use-case or the logic of an object behaviour
(d) | Actviity |iv | Used to describe the(dynamic BeMﬁﬂm of objects pnd
| Diagram could also be used to describe the entire system behaviour

i. A-1, B-4,C-3,D-2
ii. A-4, B-2, C-1, D-3
i.A-4, B-1, C-2, D-3
iv.A-1, B-4, C-2, D-3
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Q6) A Iegacy software system has 940 modules. The latest release
require that 90 of these modules be changed. In addition, 40 new

modules were added and 12 old modules were removed. Compute the
software maturlty ity index for the system. ooy — 9 Repead

1.

0.725

2. 0.923
3.
4. 0.524

0.849
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Q6) A legacy software system has 940 modules. The latest release Elcombinecs
require that 90 of these modules be changed. In addition, 40 new

modules were added and 12 old modules were removed. Compute the

software maturity index for the system.

1. 0.725 ve- | SMI —Is the Software Maturity Index value.
Wit Mt — is the number of of software functions/modules in the current

2. 0.923 ’Y‘—é r release.
Fc — is the number of functions/modules that contain changes

3. 0.849 oL y -3 Mt TTrom the previous release. i

4. 0524 W\p@ \F Fa —is the number of functions/modules that contain additions to

' the previous release.

Fd — is the number of functions/modules that are deleted from
the previous release. -

MI =Mt-(Fa+Fc+Fd)/ Mt ~

SMI = (940 - (40 + 90 + 12)) /940

=0.8489 -
4
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Q7) In PERT/CPM, the merge event represents of two or
. A Lo
more events 98,54 O
- @a,pi\
1. Splitting
2. Completion
3. Beginning
4. Joining
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Q7) In PERT/CPM, the merge event (EPresents_conplebia., of two or
more events.

X Splitting
2. Completion —

><3. Beginning Stegs
4. Joining - odd
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Q8) Which of the following is @ne of the prmmples of aglle software
development method ?

1
2.
E.

. Following the plan

| dvavhoack = W d"C‘B

Embrace race change (3%)
Customerlnvolvement - M
Incremental Delivery \%\Q

_/

?w(w\-‘ %
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Q8) Which of the following is not one of the principles of agile software
development method ?

Following the plan
Embrace change
Customer Involvement
Incremental Delivery

Wb
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Q9) Software products need perfective maintenance for which of the
following reasons ? ¥

e\

>

Bow o e

Tolrectify bugs)observed while the system is inuse —s ~ Cowfec-ive

When the customers need the product to run on[ngw platform:g) WMH\\L

To support the ’Eew featuresithat users want It to support (’L\(\Qd{’ue,
To(overcome Wear and tearicaused by the repeated use of the

software  p, - Tie

= #

r
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Q9) Software products need perfective maintenance for which of the
“following reasons ?

To rectify bugs observed while the system is in use
When the customers need the product to run on new platforms
To support the new features that users want it to support

To overcome wear and tear caused by the repeated use of the
software

B w D
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V"’Ql)Assume the following regarding the de\éeloRment of a sofetware system P:
- Estimated lines of code of verage productivity for P :
620 LOC per person-month - Number of software developers (6 >Average
salary of a software developer ;: ~ 5Q,000 per month If E, D and~€-are the
estlmate_d_dgvelopment effort (in person- months) estlmated development

\3 &

?IéneD (|nC months), and estlmated evelopment cost (in = Lac) respectively, then
k‘uask VS/N P: T W&o @Calu?? ao())ac

1 (48 824) (@) Pecsan] moudy 57 Y
2. (54(%)27) . produdt ity - S“E—Jﬁfﬂ @ <
3. (60,10,30) hm -
4 (42.721) © GF o Tiwe x Seday( P )

@ E%D'Q = S—\’LQ—

- ' P,o&uc)aww

(wgﬂ'l,&

CI=m #
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Q1)Assume the following regarding the development of a software system P:
- Estimated lines of code of P : 33, 480 LOC - Average (productlwty orP:
620 LOC per person-month - Number of software developers : 6 - Average
salary of a software developer ; ~ 50,000 per month If E, D and C are the
estimated development effort (in C}oerson-months), estimated development
time (in months), and estimated development cost (in ~ Lac) respectively, then

(E,D, C) = " -
L Siwe . opHwstic £ (M) + (onts i i

1. (48,8,24) -

2. (94,9, 27)

3. (60,10,30)

4. (42,7,21)

CI=m #
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Mwofﬁkp -
Q2) Match the following
=
(a) Product Complexity (i) Software Requirements Definition
(b) Structured System Analysis (ii) Software Design
(c)Coupling and Cohesion (iii)Validation Technique
(d)Symbolic Execution (iv)Software Cost Estimation

. A-2,B-3,C-4, D-1
i. A-3, B-1, C-4, D-2
i.A-4, B-1, C-2, D-3
iv.A-3, B-4, C-1, D-2

= #

3
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Q2) Match the following

. Q,M—‘é
x (a) Product Complexity@ ‘/7(i) Software Requirements Definition

¥ (b) Structured System Analysis ii) Software Design
< (c)Coupling and Cohesion . ‘ (iii)Validation Technique ( 1%4_&,\8_)
¥ (d)Symbolic Execution <//__’r_ (iv)Software Cost Estimation

e —_—

i. A-2,B-3,C4.D-1  dmluate
ii. A-3, B-1, C-4, D-2

<ii.A-4 , B-1, C-2, D-3«
iv.A-3 , B-4, C-1, D-2
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Q3) Which one of the following isypically provided by Source
Code Management Software ?

Synchronization
\ersioning & history
Syntax Highlighting
Project Forking

B~ w D
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Q3) Which one of the foﬁowing is@/pically provided by Source

Code Management Software ?
Lot Usdon (nikg > weatan Cothd &oley,

0%

1. Synchronization L ) Vead o] Qompe bt

2. \ersioning & history -~ @) cwdih 5 wepo- \V
3. Syntax Highlightingy, (3)  Pderse , dishnbiled

4. Project Forking

v
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Q4) A software system crashed 20 times in the year 2017 and for each
crash, It took 2 minutes to restar‘f’ Approximately, what was the software
availability in that year?

96.9924%
97.9924%
98.9924%
99.9924%

B~ WD
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90)] 5 Lo Hwer ctact _ =
Yo, 2 Ao _ 263 X 24 %(6o -uo)
%S/ /L\o s 26 ¢ x 214 % bo = 0.

Q4) A software system crashed 20 times in the year 2017 and for each
crash, it took 2 minutes to restart. Approximately, what was the software
availability in that year? -0.9% =

& T R
\fé “-_—
365 days have 525600 minutes. It takes 2
1. 96.9924% minutes to restart the computer In 2017
computer crash for 20 times. i.e. system
2. 97.9924% was available for 525560 minutes Software
0 availability = 525560 / 525600 = .999924
3. 98.9924% > or 99.9924 % -
4. 99.9924%

CI=m #



Q5) Match the @Iaturlty levelssCMMI staged represéentatlons in = Ao @ﬁmkmecs
List- | with their characterizations in List-I1 Qo by s
codes:
o o i. A-4,B-5,C-3,D-4 <ol
(i)Processes are . A-1, B-2, C-5, D-3 “2o\&
a) Initial improved quantitatively .. Y
and continually. 11.A-5 ’ B'4; C'3; D-1 Lo \X
(it) The plan for a N _ _ _ _ 3
_b)Repeatable project comes from a Iv.A-4 , B 5’ C 3’ D-1 =
template for plans. 20
(ii1) The plan uses
A€) Defined processes that can be
measured quantitatively.
(iv)There may not exist
v~(d)Managed a plan or it may be
abandoned.
L (v)There’s a plan and
£)Optimizing people stick to it.
I #

3



Q5) Match the 5 CMM Maturity levels/CMMI staged representations in
List- | with their characterizationsin List-11

codes:

List - |

(a) Initial

(b)Repeatable

(c)Defined

(d)Managed

(e)Optimizing

List - 11

(i)Processes are
improved quantitatively
and continually.

(if) The plan for a
project comes from a
template for plans.

(ii1) The plan uses
processes that can be
measured quantitatively.

(iv)There may not exist
a plan or it may be
abandoned.

(v)There’s a plan and
people stick to it.
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. A-4,B-5,C-3,D-4
1. A-1, B-2, C-5, D-3
i.A-5, B-4, C-3, D-1
«I1v.A-4 , B-5, C-3, D-1
Or, cmm
Q2 = leveds: §
~ 81 5 \A.)\’U-(-— Woﬁ
SU— ey (SQ—JA vad i eachh Plare
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Characteristics of the Maturity levels Ly "8 IND_

F{]-GI.JE__«IJI Process M—:V\UVQW ?m% \ M PY0ve v
improvement ( —_—

~

a

Level 4 Processes measured chem Merry ‘Yemey(."
Quantitatively Managed and controlled
O"‘ﬁ 0&9&1‘(3

Processes characterized for the
Level 3 organization and is proactive. (¥ 71 Pret et &“k\‘*‘w@\\
I {F'mlec:ts tailor their processes from
DEfln Ed organization's standards)

Processes charaﬂterized for prﬂjems
and Is often reactive.

Repeatalfe ( e (’mw\— W)

Processes unpredictable,
poorly controlled and reactive

= Ce==g] ©
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Q6l) Coupling is a measure of the strength of the interconnections between software modules. Which of the
following are correct statements with respect to module coupling ?

P : Commaon coupling occurs when one madule ontrols the flo@f another module by ¥ Coudat
passing it Tnformation on what to do.

(ﬁ . In data coupling, the complete data structure is passed from one module to another
through parameters. = -

R : Stamp coupling occurs when modules share a composite data structure and use only

parts of it. — —
1. P&Q

2. P&R

3. Q&R

4, AlIP,Q,R

CI=m #
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Q6l) Coupling is a measure of the strength of thef Interconnections get\/\mﬁware modules. Which of the —
followingare correctstatements wititrespect to . 9

~Common coupling occurs when one module controls the flow of another module by
passingTt information on what to do. st LY

. In data coupling, theEompIete data structure §s passed from one module to another
%rough parameters. L— J

R :tStafT_%coupling occurs when modules share a@mposite data structure]and use only
parts ofit:

P& Q

1 o

2 P&R (emo,. ?AQPQV&AL:QA &i%&,
3. Q&Rw

4. AllP Q,R © O Le«pb‘wf

CI=m #
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Types of Modules Coupling — S‘Qﬂm_::_"‘@ Q"c“(%

There are various types of mnduleﬁupling are as follows:

Control Coupling

External Coupling ’)

mme  Common Coupling

CI=m #
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Types of Modules Cohesion —

Functional Cohesion
A
P Sequential Cohesion

Procedural Cohesion
Temporal Cohesion

Coin Cidental Cohesion

—_ Best

Worst

Combinecs
— The Extra Step

CI=m #
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£)7) A software design pattern often used to restrict access to an object
IS:

Adapter
Decorator
Delegation
Proxy

S A

CI=m #
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Q7) A(;tware de3|gn ]pattern often used to(Te_s_t?lEBaccess to an object
. . [EFene “X/wd—«o@%—d o) au

—
Q Do\ o ook e
= el VY S
}( Adapter — (00t 2
Decorator MUY 2 VorasaTor
){3‘. Delegation (>avadiocagioulles

4. Proxy _
[~
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Q8) Reasons to re-engineer a software include : Y9 edig)
P : Allow legacy software to quickly adapt to the changing Tequirements\

Q: Upgrade to newer technologies/platforms/paradigm (for example, object-
oriented) -

R : Improve software maintainability
S : Allow change in the functionality and architecture of the software

Code : T
1. PR, Sonly o

2. P&Ronly

3. PQ, SOnly

4. P,Q &R only

CI=m #
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Q8 Reasons to re-engineer /a software include : o loghy €yepe e
P : Allow legacy software to quickly adapt to the changing requirements =

Q: Utpgrade to newer technologies/platforms/paradigm (for example, object-
oriented)

R : Improve software maintainability x ( Reveur ge -cungineen’ss )
S : Allow change in the functionality and architecture of the software
Code : =

1. P Sonly
2. P&RKRonly
3. PQ, S Only
4.

P, Q% only

CI=m #
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Q9)Which of the following is ey strategy followed by the clean
room approach to software development?

Formal Specification
Dynamic Verification
Incremental Development
Statistical testing of the system

S A
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Q9)Which of the following is not a key strategy followed by the clean
room approach to software development?

Formal Specification

Dynamic Verificatiome <giakic
Incremental Development
Statistical testing of the system

WD
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©10) Which of the following statements is/ar

P: _Ig__e_factorin? IS the process of changing a software system in such a way that it
doeﬁ,_ tnott alter the external behavior of the code yet improves the internal
architecture.

Q : An example of refactoring is adding new features to satisfy a customer
requirement is covered after a project is shipped.

Code :
1. Ponly

2. Qonly
3. BothP&Q
4. None of these

CI=m #
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Q10) Which of the following statements is/are@

P: Refactorin%; IS the process of changing a software system in such a way that it
[

doesqotjalter the external behavior of the code yet improves the internal = |
architecture. - = il Vwproug

Q : An example of refactdting is gdding new features o satisfy a customer
requirement Is covered after a project i shipped.

WMV\B&'M(&Q

Code :
1. Ponly 2

2. Qonly
3. BothP&Q
4. None of these

CI=m #
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[»] YouTube : https://www.youtube.com/c/CombineCSTheExtraStep
£ Facebook : https://www.facebook.com/groups/combinecs

B3 Instagram : https://www.instagram.com/combinecs/

Telegram Group . https://t.me/RashmiCCS

Telegram Channel . https://t.me/combinecs

7 Join our WhatsApp group for (NET/SET/GATE):
https://chat.whatsapp.com/GruovhRvstelnL8L2X1YQ3

7 Join our WhatsApp group for (SCHOOL/JOB Notifications) :
https://chat.whatsapp.com/ExM4CZ2ZKxzEgPvSTOXNFb

7 Follow us on Social media:

For any query regarding notes, pdf, feedback, suggestions
Mail us: combinecs2020@gmail.com

3% For all our latest courses launched

visit: @ combinecs.com




Post your doubts in comment section. B =
tay subscribed for all updates.
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